U-1T1BFS VT WA FRY—Y

A_[ETR E % AR X 8 1 [ 2 [ 3] 4 W] = e
1 5 Bk EiE BER /

2 | 36 ERBHE EHER R R| R |/

3 | 37 fiak A EHR /

4 | 23 L5 RT BIER /

B [E9% E % AR X 8 5 [ 6 | 7 [B=®| = [l
5 | 12 Tk B Iz 2. IR /

6 | 20 =2 Ea IR 7

7 | 24 hH Eig BIER /

c [EF= K 4 R 8 9 | 10 |BsE| E |IE6
8 | 3t Al dEa PN T /

9 | 26 Fil BE =R R /

10| 6 BE Bt FER 7

D [EJR K % AR 11 | 12 | 13 |B=E| £ | IEHL
11 | 15 wE AN PN T 7

12| 9 e K RIR /

13 | 14 BX RE KBRFF /

E [EF% E £ iR 32 &8 14 | 15 | 16 || 2= | IEf:
14 | 35 K B s B IR /

15 | 2 = BEA BEHR /

16 | 7 FH 2 BRR /

F [EI% E £ R 32 &8 17 | 18 | 19 |Mss| 2= |IEf:
17 | 34 IR Hth g B IR /

18 | 25 RBR #& BAER 7

19 | 29 il 8iE LR /




G |EIR K % EXHE 20 | 21 | 22 |BsE| £ |IEG
20 | 17 BT thik LR s

21 | 38 W B b /

22 | 4 B Al HRE /

H |EIR K % EXHE 23 | 24 | 25 |BMEE| £ |IBG
23 | 30 A REX PN T 7

24 | 10 = FRR 7

25 | 21 Hi B FNR 7

1 [ETFR K % EXE 26 | 27 | 28 |BMEE| £ |IEG
26 | 32 B’ BN HHER 7

27 | 11 TR ME BIR s

28 | 8 FIER &3 BER /

J [E77 E & AT B X B 20 [ 30 [ a1 | M| = [If
29 | 1 INBHR RER EHER /

3 | 33 B’ RN HER “

31 | 16 2% R¥ =RR /

K _|[EIR K % AR AR 32 | 33 | 34 |MsE| E |IEM
32 | 3 B T3 EHER /

33 | 27 &HiE =it fE LR s

34 | 13 EEY =R =ER /

L [ETz K £ AR AR 35 | 36 | 37 | 38 |BhE| E | IAHL
35 | 22 XH EE RIER s

36 | 18 FIRE LEER 7

37 | 28 i & i LR /

38 | 19 Ingk i BHER 7




